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Question 1.
a. Yield % = Div/Price
Po=D/r =2.16/0.092
                   =23.47

b. P/E ratio = Price/Earnings   
Earnings/share = [div + retained Earnings =net income ]/total # shares
10.21=23.47/E
E=23.47/10.21=$2.29 per share
Net income = shares multiplied by earnings/share
Therefore, Net income= 232,455x2.29=532,321.95

Question 2.
a.Coupon rate=7, Yield=8.94.  Therefore the bonds are selling at a discount because the yield is higher than the coupon rate.

b.Current price of bond=?
N=9, Coupon rate=7%/2=3.5%, Coupon payment=35, Face value=1000, Yield=8.94%/2=4.47%
From calculator: BV=929.39
Therefore if the bond paid coupon today the current price would be $929.39.

c. Effective annual yield=?                                                                                                          Coupon rate=6%/2=3%, Coupon payments=30, Face value=1000, Bond value=1000, N=14
From calculator: I/Y=3%
Therefore the Effective annual yield would be 6%. 

d. When looking at this question the period to maturity that is important. If yield prices go down all bond prices will rise but those that are furthest from their maturity date will rise the most.  Therefore because there is a decrease in the interest rates, I would prefer the 6% bond because it still has 7 years until maturity.  When the interest rates go down, the bond with the most years until maturity will get the greatest positive affect on the price of the bond.

Question 3 
a.dividend yield=cash dividend/current price
Stock W
Dividend=4.50
Growth rate=10%
Required return=19%
Po=?
Po=D1/(r-g)
Po=4.50(1.1)/(0.19-0.10)=55 
Dividend Yield=4.95/55=9%

Stock X
Dividend=4.50
Growth rate=0%
Required return=19%
Po=4.50/(0.19-0)=23.68
Dividend yield=4.50/23.68=19%

Stock Y
Dividend=4.50
Growth rate=-5%
Required return=19%
Po=4.50(0.95)/(0.19—0.05)=4.275/0.24=17.81
Dividend yield=4.275/17.81=24%%

Stock Z
D1=4.50(1+0.2)=5.4
D2=5.4(1+0.2)=6.48
D3=6.48(1+0.2)=7.78
P2=D3/(r-g)
P2=7.78/(0.19-0.12)=111.14
Po=111.14/(1+0.19)^2=78.48
Dividend yield=5.40/78.48=6.8%			
		
b.(P1-Po)/Po=P1/Po-Po/Po
=[D2(1+g)/(r-g)]/[D1(1+g)/(r-g)]-1
=D2/D1-1
=[D(1+g)^2/D1(1+g)]-1
=1+g-1

Therefore the capital gain yields will equal your growth.  As well to find the capital gain yields you could use the following equations below.
Stock W-Capital gain yields: 19%-9%=10%
Stock X-Capital gain yields: 19%-19%=0%
Stock Y-Capital gain yields: 19%-24%=-5%
Stock Z-Capital gain yields: 19%-6.8%=12.2%

c.In the constant growth model, the increase in dividends each year will equal the same percentage increase in capital gain yields.  In this question that is true, the dividend yield percentage increase is the same as the capital gain yields percentage increase.




Question 4

a.Bond Global Filter Corp.
Coupon rate=12%
Coupon payment=120
Yield to maturity=9.6%
N=6
Face value=1000
Current yield=coupon amount/bond value
From Calculator: Bond Value=1105.76
Coupon yield=120/1105.76=10.85%

b.Capital gain yields=(ending price-beginning price)/beginning price
Beginning Price=1105.76

Ending price=
N=5, all else the same as part a. 
From Calculator=1091.91

Capital gain yields=(1091.91-1105.76)/1105.76=-0.0125
Therefore it would be a capital loss yields of -1.25%.

c.Segura Corporation
Coupon rate=5%
Coupon payment=50
Yield to maturity=9.6%
N=6
Face value=1000
From calculator: bond value=797.28
Coupon yield=50/797.28=6.27%

d.Capital gain yields
Beginning price=797.28

Ending price=
N=5, all else the same as part c.
From calculator=823.82

Capital gain yields=(823.82-797.28)/797.28=0.0332
Therefore the capital gain yields is 3.32%.





Question 5

a.Sustainable growth rate=RxROE/(1-RxROE)  
Sustainable growth rate=0.3x0.21/(1-0.3x0.21)=0.063/0.937=0.0672
Therefore the sustainable growth rate is 6.72%.

****b. Do=2x0.7=1.4
D1=1.4(1.0256)=1.43
R1=D1/Po+g
0.12=1.43/Po+0.0.0256
0.0944=1.43/Po
Po=1.43/0.0944
Po=15.14
Therefore the stock price would be $15.14.

b.Stock price=EPS(1-R)/(r-g)
Stock price=2(1-0.3)/(0.12-0.0672)
Stock price=26.5
Therefore the stock price is $26.5

c.Stock price=D/r
Stock price=2/0.12
Stock price=16.66
Therefore the stock price is $16.66





















